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—  SEIETE (60%)
UTSEEERRREATS - SELFERRRENEE -

()L dc;’f": (1) —sin3x (2) —3sin3x  (3) sin3x  (4)3sin3x
(2 £== e @ 20 (@) -2 (2) -~
(3 2= i@z 6L ey

(14 s>08[edt= (1) -2 @e* @ (@
(5% Z=x Aly=x @Z+c @Z+fy)  (@)x2fy)
( )65 di’ =-y, Aly= (1) ce* (2) e*+c (3)ce™™ (4) e* +c

SlB=[2, Ptz a=n, mb=w1 @0 @6 @3

( 18.b=[012), =j-4k. &xb=(1)-8-2j+k (2) —67 (3)-7 (4) 6
(()9.a=-37+2j,6=i-2k. a-¢=(1)-3 (23 (3) —4i—6] -2k (4) 47 +67 +2k.
( V0.V =xi+y’ j+xyzk, VxV= (Nxd-yg (2) xd+yg (3)0 (4)1+2y+xy

( M.V=xT+xy+zk, V-V at(12,3)=? (1)1+3x (24 (3)yk (4) 2k .

( )220, 1, 1, [, ¢ -1], [e, 0, 0] = EskMiatk - 8 c=?
Mm3 @2 @)1 4 -1 '

( )13.V =cosxi +yzj +2sinzk Z—V=
x

(1)cosxi +yz +2sinzk (2)—sinxi (3)sinx (4) —sinxi +yz + 2sinzk .

)14, f& K& FAEA?

~—~

(F=xyi +3]+5zk (Q)F=xi +e’j+5k B)y=x%2z=5 (4)F = xi +sinyj + zk .

) 1547 & B e g 7 42 X7

—~

(WF=xi+e’j+2xk (2F=xi +e’j+k (3) y=xz (4)F =xi +e’]+7k
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( >16431%%@7(:)=1nt7+§}+t’1? £0,1,) 8%k &2
(1) i—j+3k (2 —i—-j+3k () i+ +3k (4) -i+j+3k
( N7 AaEhdE (- +(+) +(z-2) =4 £5(1,1.2) 8% 0 &7
)] @G +7+k)/J3 (3) —-T-j+2k (4)7+4)+k.
( )18.A=B ﬂ,A-l:
ooy S8l @ 5 ol%h W] oS 35

( )19. &¥ u(t-3)= {2 i;: ; g —#&#% 4 (1) unit step function (2) Dirac’s delta function  (3)

gamma function  (4) Bessel function
()20. FARK %M xRERGE  RHBRAX = AIxMAB R AL A (1HHRE (2) #HE
E Q)EE¥HE (4 2EEH

B S EEE > BTRER BN SRR

BESE |1 2 3 4 5 6 7 8 9 10
X

RESE | 11 12 13 14 15 16 17 18 19 20
X

- ETERE (40%)
1. SRfE 3xdx+ydy=0, y(0)=1 (10%)

2. RfE 2+ [Fydx=x  y(0) =0 (10%)

3, AZHMYAE-—MEE AR N - Fh RO AEHBTROTREF =1 + ) + 2k &5 - #iHE

()it B s g C7 = [C0shsnb ] o 100 5y 007) 2 mes gak sy [F-F =2 (10%).

(2) HHEFLEG® S z=x+2y, 0<x<4,0<y<12@HH [[F-di=? (10%)
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